17. Bf B

(1) SPFRQ64E I —i 22 NS Y S BT : T
% N % H
B H RRAE MR F H R (RERk
1 Bi| 6,833,156| 18.9| #% o #l 212,872 0.6
2H O 5 Bl 382,812 11| #& 5 | 3,134,634] 9.0
3K+ E A2 P 4 10,547 0.0 B s #| 8,382,140 24.0
40 Y E 2 T & 36,322 0.1| %5 A #| 3,914,547| 11.2
B ok 32 7 0 T 45 B 22 A+ 4 19,316 0.1| %5 18 # 127,191] 0.4
6 Hi1 5 B B AT 4| 743,778 2.1 BE ARk PE ¥ | 2,169,848 6.2
T 27 5 B A 4 2,738 0.0 pH T F| 1,525,509 4.4
8 H &) 15 Bl A2 AT 4 52,744 0.1 t+ IS #el 4,304,987 12.3
9 H1 O Kr Bl &2 A & 22,689 0.1]| 7 193] #| 2,466,788 7.1
0# 5 2 £+ Bi| 14,059,175 38.9 5 #| 3,964,910 11.4
11 22 i 22 42 b 5% 5 B 25 4 4 8,480 0.0 K = 1 H # 3,246| 0.0
1254 Kk & #H 4| 590,862 1.6] A & #l 4,079,844 11.7
13 B OV F#0RH 383,159 1.1l 2 X% W 4| 603,924 1.7
14 ® & X H 4| 3,677,636 10.2| 7 (it # ol 0.0
15 B X H 4| 1,510,079 4.2
6 P I A 67,342 0.2
17 & Fft 4 1,699 0.0
18 A 4| 1,072,540| 3.0
19 el 4| 1,274,711 3.5
20 7% I A| 1,312,820| 3.6
21 i f&| 4,091,200| 11.3
= &t 36,153,805| 100.0 & 2 34,890,440( 100.0
O ARH S IFEER 1,263,365 T T =4 . T EGE
(2) Frpl=EE AREH T - &%ﬁéﬁ __ \ ﬁ&:flﬂ
s s o4 fﬁkzeﬁrﬁﬁiﬁﬁé $§27$E%%& HAH
A i TN % H
+ H 1 7= 1,048,745 1,048,745 60 60
H % @ F F 502,479 493,445 449,000 449,000
HOA A X — 80,698 80,149 68,000 68,000
T ok E FOE 4,861,659 4,804,523 4,986,000| 4,986,000
£ % PE ok FOE 1,079,073 1,059,809 1,130,000{ 1,130,000
i 5 K B F ¥ 614,532 613,477 927,000 927,000
B i B R B 7,495,421 7,292,523 7,991,000 7,991,000
% M oE W E E K 622,556 622,409 642,000 642,000
o # {5 53 7,463,239 7,245,403 7,189,000 7,189,000
& = 23,768,402 23,260,483 23,382,060 23,382,060
F—X% . i EGE




(3) “FRR2TAEE — Gk Ak 24 9) T REE BN TH
% A % i
B H P MRk B H IREEE  |HERL
1 T Bi| 6,518,904| 20.6| S #| 227,806 0.7
2 # O E 5 Bl 382,000 1.2] ¥ % #| 3,111,943| 9.8
3 F F B A & 11,000 0.1] B s #| 8,530,365 26.9
4 B Y H R A & 33,000 0.1] A #l 2414,155| 1.7
Bk R I T A A2 A 4 30,000 0.1] %% 18 # 88,401 0.3
6 Hi 5 1Y B Bl &S £+ 4| 1,020,000  3.2| B Ak Kk PE ¥ | 2,398,847| 7.6
T VTR B A AT 4 2,500 0.0 pH T F| 1,235,058| 3.9
8 B & H 5 Bl A2+ 4 55,0001 0.2 t+ A #| 3,730,480 11.8
9 Mt 7 K¢ B A2 fF & 22,0001 0.1] V¥ 193] #| 2,233,603 7.1
oM 5 2 £ $Bi12,620,000] 39.9 5 #| 3,667,272| 11.6
11 2 72 45 38 4 0 22 4+ 4 8,000 0.0| & = H IH # 3] 0.0
12 55 4 Kk VA #H 4| 537,228 1.7) & & #| 3,946,845| 12.5
13 BF 2 OV F 50k 384,357 1.2] x M & 25,222 0.1
14 [F JE X H 4| 2,773,412 88| T fifi # 50,000| 0.2
15\ X H 4| 1,937,706| 6.1
6 P I A 61,658| 0.2
17 & Fft 4 5,002 0.0
18 A 4| 613,861 1.9
19 el 4| 500,000 1.6
20 7% I A 1,039,972 3.3
21 i & 3,104,400 9.8
=) At 31,660,000{ 100.0 & &t 31,660,000| 100.0
T —4 . TR EGE
(4) ESE (EAKEFE) wARMTE - IREEE N7 . T
HERE X Sy IS EIN | USRS HY | EAREIIA | & A 3 HY
- B 264 FE R AR 1,114,696/ 1,000,666 181,782 756,671
SRR 2T T R 1,130,271 1,054,034 378,821 1,263,407
T—X T BGR
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